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¥ | 1. False (b) 2. False ( b)
3. she had the money.
4. because she didn’t have the money.
5. Because it is so slow.
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f 6. (¢) 7. (¢) 8. True (a) 9. False (b)
10. No, he doesn't like it.
11. No, he doesn't appreciate the woman's job.
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12. False ( b) 13. True (a)
14. creative
15. They respect each other's abilities.
16. He didnt enjoy to work in a team environment last year.
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21.(b) 22.(e) 23.(a) 24.( ¢)
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25. honored 26. overcome 27. suppose
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28. intermediate 29. replace 30. guide
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31.(¢) 32.(b) 33.(d) 34.(b)
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35. have been invited 36. was said 37. decides 38. would /could choose
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39. My mother was angry with my brother because he hadn't washed his hands.

0/5) (0/5)
40. The students bought some useful books which their teacher suggested.
(0/25) (0/25) 0/5)
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41. (b) 42. (a) 43. ( b) False 44. (a) True
¢ | 45. English is easier for French people to learn because it is very similar to French.
(0/5) (0/5)
46. Because they already use Chinese letters in their own language.
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47.(b) 48. (¢) 49. (b) False 50. (a) True
¢ | 51.Itis produced from streams and rivers/ oceans/water.
(0/25) (0/75)
52. 1t will keep the environment clean.
1)
oy (/) guono gl b | W
Y
53. so 54. and 55. but 56. or
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Descriptors Sentences (of the paragraph)
Topic sentence e. I prefer to live in a village than in a city.
Supporting sentence 1 | c. First, there is no pollution in the village.
Supporting sentence 2 | a. Air and noise pollution are two serious types of pollution
which put cities in danger nowadays.
r Supporting sentence 3 | f. Much of the pollution comes from the automobiles which
block the streets of the cities.
Supporting sentence 4 | d. Also, there are many gardens and beautiful places in a village
that one can use and relax in.
Concluding sentence | b. As aresult, living in a village is more suitable for me.
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